e e A

Uk RVE ()~ uBIZB(R)

FRHE FER 201 G016
w SR ME T TL LRI = &4y
-‘:F&L:? Y f’?L f'% i
VAL ES SUNSEBPPY 5 Ei-b- A

A
o3 UALEMA) &
¥4 ‘"-%w;u,tw:‘:v(,J 7 Pl

9:00 r%gﬁ%—f}"[z ff/?t'{;_l@}fvl,?
O FrLEE MBI peot 1}
T LENOVO Pe o F3d 2" BT Lape g
Tl trcuty desd & pJ 2 7l g,
205 v o3 v v c BB
sl B R T i o R ~T7
%7 Lo P EPSON Eodepy,
BL4—B§’6;$?F RN S yzz\( =

4& Plﬂnléc@l Counbro( ( Pownine | T’)
NFH%‘P‘ Tf‘“l/@g F}jzéifﬁzg (T



36

O 30UZ Ul B -
XOUFIRIR~ RS R =1
RETT b 127 MBS gy g uemdd pxp "
i ’;»o)ullolo’.PKF“ 2 AN A
’f;@[udd-rxfy"ky"’,l“g"“

O Movosoft P 9%~ } ??LE
MBI PC o BT 7o T - Pt our
o202 ey 2 %"7?“‘
[ERCR SN - FUERE LS S PR
B3 70" - 7 off c (2]
L [N ARl A PP AN
o Ups (BREBDREE) 354
TeUPS "% " F (ef #1214 g—)
AR S e PR (20 B oA g
fpvae po 1V EE PP C ¢
LCOXT T T
9&( ?%P:{’ pC = " Power Chute Persoval Editou
vol 9y e drrf-
b Pwﬂ%wu‘-‘(u /%APC - A A }‘/Pj
Tt \
WAL > xB 253 50 T A
S Y B e SR Ryl e 2
&1-/%:‘»& L?’%&e =



37
OHV/PHA 27 | T lF M TE )
HY 2tw> 7272 o a R 7 (of. p=r2,p.>5)
HV/PRA 2P 7 7 278 Hoplee 2
B
@f. LA B (2 PRI o
prw/r;::fa’m\ | |
Iw*f},;d.‘“ £ “02[(,1,(5 %VQTIU/‘S(E?QI/%CT:ZOZQ
EReBlr38. BlUPye) sen)s G
TP T (L A Ny -]
for g om0 FEOIMG SF TR
'("v/%uﬂo 2 EF}EB%[D[Z( b (215 7T
%6‘)")1‘@7’2
o) "W X e GuF G APt
T %"’{;E/P )qp)"ﬁ (= “")"t;{‘}’ Tz {@EE(_
Mo | pA HV 2t+>4"CR = Fy(E 32
Ce v AR T
2Yal w8 xHOoXE wet, Cu(»]ﬂ%?ﬁ.
LpL. 294 2R e Gt 3T
Ccd. po9)
O HV/PHA > = | Balf B3] (%27
=50 +rv> }@“" YA vl
H?ﬁ%‘“?*’ ~f ¢ FL21E
v/ PHA 2 = M%WJJM AdB 7t
3=




< H\// PHA ZT"P o
5’7,&% nF Y (= SE . Ae. e b

HV 23+2 v PHA XxF+2 ¢ 3252,

27w walb x Hooxb ww?
ﬂ%i—& Cond (2]

e

Un't No. ﬂ_@??H La HV tﬂ,) (;g—-

/ 764 240
> 650 650
3 b7 L2t
2 76¢ 2L
& 710 Pl
b »93 000

32 (B FEn-3"= F 7
No. ( }:‘°f}' * ?ﬂ\‘{»—?(“{ﬁiﬁy_ T—:f’),

-.-:D(MPSE@I/ I/{/ﬂl-f)kpw
WAL LIREWR 37221232

38



I | I |

6000 — T - 6000 L
S 4000 — | 4000 —
S 2000 Ho = 1° 2000 - -
0 === I I i u T I |
600 700 800 900 50 100 150
HV (1) [V] PHA (1) Base [%]
| | 1 i ] | |
15000 - - 15000 — -
£ S
= 10000 — L ~ |2 10000 - -
[&7 < 3
5000 — = 5000 — g
== T I i T = I I I —
500 600 700 800 50 100 150
HV (2) [V] PHA (2) Base [%]
| 1 | | | |
16000 & 16000 -] -
L 12000 0 | — | 12000 -
S 8000 b} = |= 8000 —
51 B B 31 E -
4000 e 4000 - s
== T | I — J T I I
500 600 700 800 50 100 150
HV (3) [V] PHA (3) Base [%
20000 ' ' = 20000 ' ' : -
_ 15000 T = | 15000 —
S 10000 } — |2 10000 — -
% 5000 — L |° 5000 =
0 i I — .= I I I
600 700 800 900 50 100 150
HV (4) [V] PHA (4) Base [%]
16000 - : : ' L 16000 ' | L
| E el i
o 12000 E |, 12000 -
S 8000 — — |z 8000+ m
(&} -1 - 5] 1 [~
4000 — i 4000 = C
0 T I [ il 0= T I I —
600 700 800 900 50 100 150
HV (5) [V] PHA (5) Base [%]
| | 1 | 1 | |
16000 = 16000 —
- 12000 —_ 1\ - - 12000 — e
2 8000 9 — |3 8000 —
7 - B O E -
% 4000 o — 4000 — -
= I i i = 0= l I I
700 800 900 1000 50 100 150
HV (6) [V] PHA (6) Base [%]




R ek s - 7\’0~f~) o I e PCG\““)"L{LJT‘—/A
B0 CW e R F e (F ccw e 2k (B2
gd%L’Ll I=.

e i3 LA (CTPhD & s f ol 7%
fFALZEY. A I I R C 2

“%“EE J P(,]'H%’l ™~ N jzﬁtu@iﬁ-z?—}}p}
By, >

A HP Cowlmé, o*xl?fad (=}

e ik G Fpifaade g

Ny )z lb‘%#’ﬁ?)}ﬁé%&l«%z

E}“%iyﬁéﬁﬂf%‘ 3%} D-) a\%l[??? t2 7'3,7 tof

USE - 13 (/u,% d‘%% (Covtee DIO D4PTVUSP)

2 Port ALEP PortBEA P 200 400

Port C z?j:f%fﬂ B, hore 24t uﬁ\;‘?}%

Eein Do wd2b1=23). #h +5VDET

i PCoUSBE ] v SR fz0i: (T

A KIS R TR

Bit| 2 6 & « 3 31| 1
—FIER AR

@w“CCWi

40




. e
30} 5504
¥ Tt MoAttenm( ) J
L AD 34
. BYIT Yy #
2 T N e A
* cw (m) Fo v 21 90§z
Qn‘lu]%
- B¥IITR Yt
% ?y;’j {240 1) Fm:l?v/L“ W

¥ CCw (rv\)
ooz ,lﬂ“’;@

3 PRWE . BGUE

’[)‘7"/} (/}, mwm,gm}g‘y,aa(/cf; (>
Gicg e (N6 TP05% )



42

wu%vﬂwﬁl(ﬁ) |
%l el pnE (kP Iire)

PPy b £
, ﬂ%% (v 50)
Wga 2wt s-7 F 54
T e A D
. TERMEE BB E = TR
© AR3 >l e Ar L

IV‘t"t MoA H&Lu( )
429052 £ 5004 ®

© 334l cw ()W EAp L.
40° %33 3=t $TFEF 2.
P3¢ BORTRIF L5273
77‘91.5%‘;}1‘bt*\/} —13.0~-10.C wrw,
0.0V wim AFw 9°
e 9385 Bhyy T 22 ATIZ 34
A7 l,f\”"] ZF'P\/)OD'D y $ b C6000
qﬁfj\a%}g No. L ¥ (2. 3 ?LI*“)’QL’p‘/(\
OPt;w?zCL-‘ Mu(c/é(w, ”EVE@I’: 0.01. [&0)
¥ L2 cytz}?ég i%# 372?@ /P‘/T\z%a TQ,(}:J: %,{2%
3R>y Lo e el iy
Cly pwanMathod (4, shool, 0, ¢ &1,6 )

RN JRRSE 2o
APy %C /ﬁ%k@;@@




4

120000 - |2 120x10° W
S 80000 1 = |z 80 a=0.2854(7)
(=) —
=4 7] B = = 1.781(16) us
o | — = 4
40000 mE <0 p=0.604(14)
0= i I l | 5 T T I T
130 -125 <120 115 -1LO 20 40 60 gox10°
Slit base [mm] Attenuated intensity
L | | | | | =
i - 5 4 W
120000 — — | 120x10 :
o - 2 _— —
= 80000 — s E 80 —9.2832(6)
7 ] L |E r=1.423(12) us
40000 — = |5 40 p=0.706(15)
=TT — T |& l 1 I I
-13.0 -12.5 -12.0 <115 -11.0 -10.5 : 20 40 60 g7
Slit base [mm] Attenuated intensity
| I | | = .
120000 — | 353 12())(]03 W
-+ - I - =)
S 80000 — - |3 80 4~ 0.3328(6)
3 - = ’g: 7= 1.454(12) ps
40000 —  E 40 p=0.702(15)
2 T I I a5 i | T T
-130 0 -125  -120  -115 20 40 60 gpeqo}
Slit base [mm] Attenuated intensity
| | | | | L = .
120000 — § 120x10° W
J L]z .
S 80000~ e 80 a=0.2853(7)
G _' '_ § ‘ 7= 1.768(15) pus
40000 — ME 40 p="0.647(14)
L e e A = T | R
-13.0 -125 -12.0 -11.5 -11.0 -10.5 20 40 60 gox10°
Slit base [mm] Attenuated intensity
| | | | I BB
120000 = |2 120x10° it
oo 9 r .— —
S 80000 — o E 80 a =0.2827(6)
& d L = 7= 1.443(12) us
40000 ~ |5 40 p=0.705(14)
=
0= T I I T |5 I I T I
30 <123 <120 <113 =110 =103 20 40 60 guq0°
Slit base |[mm] Attenuated intensity
IIlIIlIIIIIIIlIIllIlIIlI § 4
160000 = |5 160x10 W
=z, — — |= 120 ‘
= 120000 i b= ( a = 0.2824(6)
= 80000 . 80 r=1.131(10) ps
40000 — — |5 40 £=0.881(18)
0 LI | I TTTT I rTrri I TTTT [ I ) g l I I I |

-13.0 -12.5 -12.0 -11.5

Slit base [mm]|

-11.0

20 40 60 80 100x10°
Attenuated intensity

@[Mﬁﬁml/t/[}”}'fpﬂ




029 lR G 2tey, IPTHG 2t
ﬁ[ﬁ@s}@{/uu—wad

1 1 1 .
6000 — —
4000 - —
2000 - —
I T T
5000 - : : : 5000 -
4000 - 4000 —
B e 0.0480
2000 - S 2000 - 11.004
1000 1000 - l
0 0

I " I ! I i I | I I I I
-12.0 -11.0 -10.0 S11.15-11,10-11.05-11.00-10.95-10.90 -10.85
Gonio base [mm] Gonio base [mm]

c1000

c1001

' T T 11
1002

T T 171

Mot p t3¢T W FEIPE
B BEy § il e’
R A NI S AP 3 S B
=== Dl et IELAK o(fE 8
E{ﬂ"}f T2:¢v M2 a(pF =
§1% tch
= [FMPs2@11112 -5 prp

44



QP24 BRaery v )

>0:33'49" [R67
240387 BT

:;(MBQ@uu[z-g

) I hv [ Ywin 4bs

No . Ba (%) 220 (°) 2206 (°)
1g-£29 24 &% [(2482(/
lo- S 2 49. 7758 992761

/
)
3 L0488 g papad
4 10639 44.2994 49 794
&
6

L0562 2%2953 24290
Lo- §62 —0.04%) —0.04L

R 7% S ICRLS
205 'Fe TRV
[T, 3/3’00"35}] 2 [ @b <

Wirt x Heel, iﬁ\%?ﬁ CwtTy)
T, A Y6 T T
No. e (’) Al@i

T agi9e AR
R AL 49.7 94
3 24726 147967

¢ 40 7986 49. 296/

r

6

247988 2429 20
—0. 0440 ~ 0044

- —



F‘nCOdcr ang‘lc [degl 11 Ll L1 I v D (O ] | 1111 l T I | 1
124.78 12480 12482 12484 124.86 20000 ~
20000 _| PR T T N A N HNY WO N NN S o 2 15000 — —
= 15000 — 0.0036 - — 1= 10000 — g
= ]QUOU — 0.0056 — “ 35000 — Cvgf]]?tllll? -}211090 |
S 5000 o = ; ;
0 left: -12.09 Right: -90
l L S | 1 I T T [ T 1 1 I I 1 1 0 LI | TTTT I B 1 I TTTT I | B B | I TT
12478 12480 124.82 124.84 124.86 -13 -12 -11 -10 -9
Two theta [deg. ] Gonio base [mm]
]:‘ncnder ang‘le [dcg‘] 11 l LL I I l 1111 | 1 J-4 4 [ Ll 11 11
99.74  99.76  99.78  99.80 20000 — ~
20000_lllllIlill-llllllIIIIIIIIIIIIIIIIII|||||I_ - 15000 — ~
S 15000  0.0056 —m=/)\ a— — |§ 10000 Width: 2.24 ~
% ]2888 -~ 0.0035 : — 5000 — Center: -11.00 .
n B eft: -12.12 ight: -
U IIIIIII[III|[IIII'II||||||||TI]I]IIJI]I 0 k;l||||||II[I]]||IIIF{IIglhIL1 19|88
99.74 99.76 99.78 99.80) -13 -12 -11 -10 -9
Two theta [deg. ] Gonio base [mm]
E[]COdcr ang‘lc [deg‘] o | [ 1111 l 1111 E L1l 1 1 l L1 11 l L
7474 7476 7478  74.80 20000 — —
’ 20000 — | T ) R R A |0I00|-4| L r:-_ 13888 = =
2 15000 — 005 — = — il =
S 10000  0.0055 S et i 6h s
5 5000 — — M
0 | left: -12.09 Right: -9.91
I 1 Ll 1 I 1 1 1 l T LI T 1 1 I O TT I ITrrT [ LI I TTTT I T I T
74.74 74.76 74.78 74.80 -13 -12 -11 -10 -9
Two theta [deg. | Gonio base [mm]
HHCOdcr ang‘]e [dcg] 11 j Bia) B A I B W B I Ll ) I L1111 ||
49.76 4978  49.80 4982  49.84 2000054
20000 ol 11 1 I 1 L1 l 1 1 1 I | MO | | ?:] ]5000 —
ol 15000 0.0060 = % 10000 — 1
S 10000 0.0061 5000 — enter: -11.0
© 5000 = — Left: -11.86
O I I LI ] I T T T ] I I | T I 1 I 0 L] I I TTd | LI I L I rTTT I L
4976 49.78 49.80 49.82 49.84 -13 -12 -11 -10 -9
Two theta [deg.] Gonio base [mm]
Encoder angle [deg.] | | L,
2476 2478 2480 24.82 20000 o~ O
20000 — O I ] o | ST ] L L g :3228_ =
e 15000 — — 0.0055 ~ | - : —
& s v Width: 2.17
E‘ 19888 - 0.0054 — 5000 — Center: -11.00
2 0 L. B 0 ljeft: -12.08 Right: -9.p2
I LILIRL] ] LI ) I T LI I 1 I T I S I | I LI I rTTT I LIBLELIL] | TT
2476 2478 2480 24.82 -13 -12 -11 -10 -9
Two theta [deg. ] Gonio base [mm]
Encodcr anglc ldcg'] 20()00 I 11 11 I I | ] ! A0 0 i | I L1 11 I 11
0.08 <006  -0.04  -0.02 B
| SR TS ET PR B Q‘S?UU— B
5 - - 1 10000 ; —
2 T — 0:004% 5 Width: 2.55
;g o0 . D 5000 — Center: -11.00 -
0 — B OLe t:-12.28 Right: -9.72
| I I I T T LI | TTTT I TTTT l Tyl ] TTTT I 1 60 ¢
-0.08 -0.06 -0.04 -0.02 -13 -12 -11 -10 -9
Two theta [deg. ] Gonio base [mm]

AR a8 R 7 AT AN

16



47

o FIPGRIAWY G & X5AR
@%\g[}] —0}??0

-——-:LMQSi@” {Hl”?‘?kf !

O §-PPY NST SEM 6o e 190R
T PR T

7.74 wWilox Ho-L

X304 107 RS

, [Ewin3
3129 M—"F?}] ‘)lh ks

:9@1@[/”11—&. [mﬂ
B L% c“%f"@ 7’3 o FREFeCuwsy- )
+ 7184
247
A= )48 5) A

Ao = -0 .0183(14)°
A)—@ecceu. = OOI64C“) i
@_e,cc.zm- = 3?4‘0‘}) 1




10 111-reflection 220-reflection
e 2000 3 T
- 1043 = = -2000 4 N
3 & 3
izooxm ‘ilOOxlO‘
z 100 ' Z 50
5] Xl iy <
= 0 = A ey = 0 e ¥ &
. LML B L L = rrrrl-rr [TTTTTTTT I
219 22.0 36.1 36.2 36.3
20 (deg.) 20 (deg.)
311-reflection _ 400-reflection
400 A
z Z
& S
2 3
z E
42.7 42.8 ;
20 (deg.) 20 (deg.)
5 331-reflection 422-reflection
s 50 — '
£ 2
&, =
= 2000 =
= iy e =]
= I‘l‘[T!'r||||||||l|||||||| =l
372 57.3 65.1 65.2
20 (deg.) 20 (deg.)
40 440-reflection
0
@ -40 i
o o
=, &,
2 1000 &z
5 o, 5
b= R S =
e TTTT T TI T[T T [TroIr Tl =
69.6 69.7
20 (deg.)
5 531-reflection
— '2 —_
5 200 g
) -~
= 100 =
g i J ) 3‘2 et ; S
= [TITTT T T [TTTTITTTT ToT = TT T T[T T T T T T T T
81.0 81.1 81.2 88.0 88.2
20 (deg.) 20 (deg.)
444-reflection
104
R T =
2 e
3] 5}
E E

LA L I L O B

992
20 (deg.)

43



49

wRE®LE (20)

0 711-reflection 10 642-reflection
z 10 >
& 5
= 400 =
Z 200 3 z
o Al Q
b= () —het k i =
T TTTTTT | rTrr1rrrTi s
103.4
20 (deg.)
40
— 0 —_—
= -40 3
21000 =
2 g
2 500 iz
5] o
S [llllll]]T!]ll]l[]]ll =
115.0 115.2
20 (deg.)
733-reflection
g g
= = () =5
= o= I T 1TT | T 1T I LI I
128.0 128.2 128.4 1374 1376 137.8 138.0
20 (deg.) 20 (deg.)
2 555-reflection
’g_
&
Z
D
=
70 PR ) [ 5 P (| [ O
7 - 100x10” &
1.19472 — = = 80 — =
=1 - 5}
= 60 — —
< 1.19468 — — =
= . w £ 40— u
1.19464 - — = 20 —
— = O_ e
T T T 7T 77 LS LS T |
0 40 80 120 160 40 80 120 160
20 (deg.) 20 (deg.)
1
EL L
3 L
= L
i
0 40 80 120 160
20 (deg.)




-

!
|
|
\

W N N R N g R R R g T — —

|

[

g

O NIST SpMbdtoe gtk

g W AT YT
?‘/7} W 10 H O ww?

=>[ MBS 291011129, pp |
/ )

PLeydoh
WA 2 SRR By Nle zfﬁ%‘rwuﬁ

D29 b7 F-d e st k3R

DR AN IS R

o b W0k x Hﬁ'{w— 1-n G2 Z(d
A= 94208 C0) A

- ¥73 ﬁﬂ_ ¢ %%9@ Lgf/jwp,y ={F > Wé’ﬂﬂk%

%L(ﬁ/)(? Lﬁi’?f LF LE CC-f./f).CFo)

C AP YPY S0 EVEZ LF R WV PHA 2T

£ GUITRIE 22720 F30uF (I

* No/ Pt pra A v R 7oL fRZ.L.

7. £ IR A TR TN cc.-f.P.;g)

" Nol JES{T A IR )F 2 1 5‘?‘@ (7 e
| (,c‘f-(w%]

w2 T §ﬁ“}‘/\"2 Celll) ) o F =7

|

20




>oltd Vi f(3a(R)
O NIT SpMedo. P57 (LT 1R IR 1B or MM?
S iT1E

G Avs BBIT 31 1Bow
\M{%s;auurl ?f ﬂ

O ¥t . ¥ g b YT y9 2t

27({‘4{95 ﬁ@tmr(;q,&@

5‘@’@@\; (B4 F1 0%

o ¥4 S w JI2ATIT R gl
L AT S T RRAR T o & O I
(892 % 97 12T, 2red Zpz A
TR AIANY G ~f e 24 T
| pons f3 FHE 12 4Tpr-e 620 % 275"
=0 Gu Bt T e Fioe 2§t &
| vav. g =2 Z?‘(Vz,
R (. w2 Tt et 3%) e )%
« -1 X2 400 2799° %T(L
-PtreFi B

?9(M9£1@uu 13'?"!7_“[1




Eh TR ATE

W (0 mim x {O-§ w v
(A5 (¢ pyt
A OW R g W E T M, T
_—_—__3()\495;@(([(!3~?.f1<{9]
0F % (2FE A AT
X i 0 all e E é P2
Tt $buwt BT (02
Bp v 2Ll &y -9 LTl
ccdF . F LT G2t
“'/‘ L ?j\\%’i (W4 (= g VIT (=23 2 7}@% p
P2 P WU F G T
FipWaF R e b3S F 0T ST
VAP RIEL-12 o R Ly
SLEAVTES T S U | R S 2 SHVAE
W F -0 rapel g3 & B
"B Y2 Y -0F i Fe 22 6Ty
c EEMIEY 12 2T Py 0370 28
[y )P ST
=y | M Bsmum;f@j@

5




53

c1000

c1002

cl1004

c1001

cl1003

cl005

l 1 l 1 l 1 I 1
B e e P eree—]

with usual path

12000 1 ishihara Si, yl __ 12000
— 8000

8000 — i
4000 —’/ — 4000

‘=TT T1 0
21.88 21.92 2196 22.00
Two Theta [deg.]
12000 —frmiie
3 |1shihara Si, 1f1 it
8000 — Without 455/mmypath 8000
4000 —:‘_’/ ki— 4000
0_'I"'l"'l"'l"_o
21.88 21.92 2196 22.00
Two theta (with Theta) [deg.|
3 W T e
12000 _ 1Shiha-ra Si.;f]& ;_ 12000
il L with full path closer ;_ 8000
4000 —"J K:— 4000
0-'I"'I"‘]"‘i"_0
21.88 21.92 2196 22.00
Two theta (with Theta) [deg.]
16x10" P

Curve Fit Results
Coefficient values [} one standard deviation

a =122.84 + 5.61
b =1.0038 + 0.00222
=
"R S I i
2 4 6 B 10 14
c1000
12x10° 7 e

Curve Fit Results
Coefficient values [} one standard deviation

a ~3.3807 + 4.58
b =0.76609 + 0.00191
=
=T T 1
2 4 6 § M B
¢1000
16x10° ] o

Curve Fit Results
Coefficient values [} one standard deviation

a =10.116 £5.31
b =1.0089 = (0.00219
[l

I 1T 1T T 1 [ I
2 4 6 8 10 12440
¢1000

ooouD

ToOw

FOOWD

cl001

c1003

cl005

cl002

cl004

Illllllllilllll
b i

12000; Ishihara Si. 141 12000

Without 85 jm- ath

Bt <] - 5000
4000 \:— 4000
U Ll I | O I | | LI I LI ' TT . 0

21.88 2192 21.96 22.00
Two theta (with Theta) [deg.]

lIIlIIIIIIIlIlII

12000 — 7 -

[ Ishihara Si, ;/1\ - 12000
8000 —: with full path leaked C 8000
4000 —_’/ \:— 4000

0 = I T TT I T TUF I TTT I LI C U
21.88 21.92 21.96 22.00
Two theta (with Theta) [deg.]
1600(] o | I | O T | l L_j: -} I L1l I Ll
12000 - |Tshihara Si, 111 — 12000
—_— ] full path evac, again L 8000
4000 _—J \— 4000

01|III|III|IIIIII 0

21.88 21.92 21.96 22.00
Two theta (with Theta) [deg.]

12x10° =

Curve Fit Results
Coefficient values [} one standard deviation

a =2.6827+4.76
b =0.81997 + 0.00198
=

e

[N N N R S
2 4 6 8 10 12y
¢1000

16x10°

Curve Fit Results
Coefficient values [} one standard deviation

a =18.706 + 5.32
b ~1.0043 = 0.00219
=

ot

T
2 4 6 8 10 124,44
¢1000

9 wregto

e

10owd

£OouD

<oowd



04

ONIST spMgasc  $0§ o1 14 due
;lt/%)r WhiwwxH ((w- (2
TE

SQLM PS>0 (2 'f?\c(y\

~wgordio) -
plo3 Al 1> Fro

ety BERAPTT 20 )5 €
BB ¢ 2 TF IR 22805
~%ﬁm wcéﬁﬁc;u‘




